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PAO3CECO03 - QUANTITATIVE ECONOMICS
Note: (i) Attempt all questions,
(if) Figures to the right indicate maximum marks of the question. Total Marks- 70
Q-1 (A) Give the meaning of function. Describe the various types of function with appropriate examples. 09

(B)

(i)
(i)

(i)

Q-2 (4)

(B)

(i)

(iii)

Subject to the following constraints find out the values of “X” and “Y” when the objective 09
function would be minimize and maximum.
Objective function; Z=5X +2Y

Constrains; 2X +3Y =26
X -2Y <2
X +2Y 212
3X +2Y £33
Non-negative conditions; X > 0 and Y > 0
OR
Discuss the characteristics, types and uses of diagram in detail. 08

The demand and supply functions for a commodity are as bellow. Using these functions find 06
out equilibrium price, equilibrium quantity and impact of tax on consumer and producer.

D =304 - 2}’2

S=P(2+3P)

t= 2 (per unit of a commodity)
Discuss the properties of inequalities. 04

Give the meaning of matrix. Discuss the various types of matrix with appropriate illustrations. 09
Explain the addition rule of two matrices.

Solve the following simultaneous equations using inverse matrix. 09
2X-4Y +3Z=3
4X -6Y +572 =2
2X+Y -2 =1
OR
Write a detailed note on input-output model. 10
Find out|Al, 2A and 2|A| for following matrix and prove that 2A # 2|A]|. 04
1 2 5
A=15 6 4
37 2

Narrate the steps of Cramer’s Rule to sole the simultaneous equations. Using this rule solve the 04
following problem.

0.3Y +100I-252=0
0.25Y -2001-176 =0



Q-3 (A) Give the meaning of set. Describe the various processes on set with appropriate examples. 07

(B) A company has two plants to manufacture scooters, Plant-1 manufactures 80 percent of the 06
scooter and Plant-2 manufactures 20 percent. At Plant-1, 85 out of 100 scooters are rated as of
standard quality. At Plant-2, only 65 out of 100 scooters are rated as of standard quality. Find
out the probability that a selected scooter will be (1) from standard quality scooters of a Plant-1
and (2) from standard quality scooters of a Plant-2.

(C) Narrate the steps to draw the Lorenz curve, 05
OR

(i) Give the meaning of series. Explain the types of series with illustration. 06

(i) Write a detailed note on mathematical expectations. 06

(i) If set A={X/X<10, XN} and B={2, 5, 8, 10, 11} then prove that A-B # B-A and AxB # BxA, 06

Q-4 (A) Lxplain the concept of central tendency. Discuss the benefits, uses and limitation of main 09
measures of central tendency.

(B) Using following data find out standard deviation. 05

Class| 0—1000] 1000 —2000 | 2000 - 3000 | 3000 — 4000 | 4000 - 5000 | 5000 — 6000

]

f 18 26 30 12 E 10 <

1

(C) The mean and standard deviation of 100 items were calculated as 40 and 5.1 respectively by a 04
student. By mistake he took one observation as 50 instead of 40 during this calculation. Find out
the correct mean and correct standard deviation.

OR

- (i) Give the meaning of data. Discuss the sources of secondary data and briefly describe the 09
methods of primary data collection.

(i) Give the meaning of dispersion. Narrate briefly various absolute and relative measures of 04
dispersion.

(iii) Using the following information find mean, median and mode. 05

Income (Rs.)[ 0-5] 5-10]10-15 [ 15-20[20-25 [ 25 -30
Frequency 5 7 10 g | 6 4

1
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